MATH 280 — QUIZ #1 Name: Key

Directions: Please show all work to receive maximum credit. This quiz is worth 14 points.
1. Given a= (—5, 4,3> and b = (4, 6, —2). Determine the following:
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(2 points) 2. Find the distance between P(3,1,-2) and 0(-2,3,4).
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(3 points) 3. Given the parallelogram with points P(1,0,0), 0(2,2,-1), R(3.6,2), S(2.4.3).
Determine the area of the parallelogram.

5 4
Po = LL&12 ﬁ
B
FS' <//Z’I/3 r
— A /2
A J ‘ A 3 J‘*
Qo P // Do | =3 (emem) mS(3tn) )
fow I — JjOoZ -L@*%c)lzl

[P0k P2l = (00 v b4 =750 = [430 =A[30

‘/:/)—0 6{4/1[&7’( awﬂ Sl )‘/—55,57""6“/‘ uw«"/(



